3 : 3

J ' = iy - .‘J =2 v
J e ¥ H . 2

If b is two more than one-third of ¢, which f the

.

holder receives is given by the function B(p) = 4p + 7, following expresses the value of ¢ in terms o bt
where p represents the number of purchases made. :
If the number of purchases is increased by 3, by how  : b-2
i : A} em——
much does the number of bonus points increase? : 3
A) 3 \ \ B) b+2
: c=—r
QB) 4 2 P : 3
N\
Q) 12

D) 19 @c:?a(b—Z)

T R T e T e T - "g: C*Z— - b
2 e S P e
Jeff tests how the total volume occupied by a fluid
contained in a graduated cylinder changes when
round marbles of various sizes are added. He found

that the total volume occupied by the fluid, V; in cubic

The rotation rate of a mixing blade, in rotations per

. i : : second, slows as a liquid is being added to the mixer
centimeters, can be found usm.g the. equation below, The blade rotates at 1,000 rotations per second when
where xeq 5 . k— les Jeff the mixer is empty. The rate at which the blade3lows
added, one at a time, to the cylinder, and r is the :

is four rotations per second less than three times the
square of the height of the liquid. If h is the height of
liquid in the mixer, which of the following represents
R(h), the rate of rotation?

> A) 4-9k? hnghl'

If the volume of the graduated cylinder is 96n cubic B) 1,000 - (4 - 3h)

radius of one of the marbles.

V=24n +x(%nr3)

: =h
centimeters, then, what is the maximum number of C) 1,000 - (9 - 4) !quld
marbles with a radius of 3 centimeters that Jeff can : C R

S . : 1,000 - (3h* - 4) -
add without the volume of the fluid exceeding that of AT ..l.‘
the graduated cylinder? :

e T Um 7| i Ly \000~(3w-4)
A1 - (31 ) s

o3~ uT, . (u “01”39(}
D) 4 v K

/\IEW: Y x(S(yV)
ST ¥
A= x
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The number of bonus points, B(p), that a credit card
holder receives is given by the function B(p) = 4p + 7,
where p represents the number of purchases made.
If the number of purchases is increased by 3, by how
much does the number of bonus points increase?

A) 3

/
) Up+2)+7F — 23
AL Y (3){}/} +F —
D) 19 e

fp,?j// {?

¥R;

%

| S d
Jeff tests how the total volume occupied by a fluid
contained in a graduated cylinder changes when
round marbles of various sizes are added. He found
that the total volume occupied by the fluid, V; in cubic
centimeters, can be found using the equation below,
where x equals the number of identical marbles Jeff
added, one at a time, to the cylinder, and r is the
radius of one of the marbles.

V=24n +x[§-nr3)

If the volume of the graduated cylinder is 967 cubic
centimeters, then, what is the maximum number of
marbles with a radius of 3 centimeters that Jeff can
add without the volume of the fluid exceeding that of
the graduated cylinder?

Gye 16T awrux(&m)
. R‘{U*y,! 2t

D) 4

-/(/{” ékﬂ" v
CJY' o
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If b is two more than one-third of ¢, which of the
following expresses the value of ¢ in terms of b ?

M= gz 1R
9 C___b-:l;z » ?)42
%:3@-2(@(\0%} C (D
D) ¢=3(b-6)
lo+d
3
e 8

The rotation rate of a mixing blade, in rotations per
second, slows as a liquid is being added to the mixer.
The blade rotates at 1,000 rotations per second when
the mixer is empty. The rate at which the blade slows
is four rotations per second less than three times the
square of the height of the liquid. If & is the height of
liquid in the mixer, which of the following represents
R(h), the rate of rotation?

A) 4-9hk?

B) 1,000 - (4 - 3h)

C) 1,000 - (9h - 4)

\1,000 - (3h? - 4) ’

1000 V/S

100y
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